Department of Mathematics and Statistics

September 12, 2012

3

(日) (同) (三) (三)

That is, we have

H(s)=F(s)G(s),here we know $f(t)=\mathcal{L}^{-1}(F(s))$ and $g(t)=\mathcal{L}^{-1}(G(s)).$

How can we use this information to find $h(t) = \mathcal{L}^{-1}(H(s))$?

(日) (同) (日) (日)

That is, we haveH(s)=F(s)G(s),where we know $f(t)=\mathcal{L}^{-1}(F(s))$ and $g(t)=\mathcal{L}^{-1}(G(s)).$

How can we use this information to find $h(t)=\mathcal{L}^{-1}(H(s))?$

< ロ > < 同 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ >

That is, we have

H(s) = F(s)G(s), where we know $f(t) = \mathcal{L}^{-1}(F(s))$ and $g(t) = \mathcal{L}^{-1}(G(s)).$

How can we use this information to find $h(t) = \mathcal{L}^{-1}(H(s))$?

▲□▶ ▲□▶ ▲□▶ ▲□▶ □ のの⊙

That is, we have

$$H(s)=F(s)G(s),$$

where we know $f(t) = \mathcal{L}^{-1}(F(s))$ and $g(t) = \mathcal{L}^{-1}(G(s))$.

How can we use this information to find $h(t) = \mathcal{L}^{-1}(H(s))$?

▲□▶ ▲□▶ ▲□▶ ▲□▶ □ のの⊙

$$\mathcal{L}^{-1}(H(s)) = \mathcal{L}^{-1}(F(s)G(s)) = \int_0^t f(t)g(t-\tau)d\tau.$$

The resulting function is called the **convolution product** of f and g and is denoted by f * g.

That is,

$$(f*g)(t) = f(t)*g(t) = \int_0^t f(t)g(t-\tau)d\tau.$$

$$\mathcal{L}^{-1}(H(s)) = \mathcal{L}^{-1}(F(s)G(s)) = \int_0^t f(t)g(t-\tau)d\tau.$$

The resulting function is called the **convolution product** of f and g and is denoted by f * g.

That is,

$$(f*g)(t)=f(t)*g(t)=\int_0^t f(t)g(t- au)d au.$$

Methods of Applied Calculus (JMU)

$$\mathcal{L}^{-1}(\mathcal{H}(s)) = \mathcal{L}^{-1}(\mathcal{F}(s)\mathcal{G}(s)) = \int_0^t f(t)g(t-\tau)d\tau.$$

The resulting function is called the **convolution product** of f and g and is denoted by f * g.

That is,

$$(f*g)(t)=f(t)*g(t)=\int_0^t f(t)g(t-\tau)d\tau.$$

イロト 不得下 イヨト イヨト 二日

$$\mathcal{L}^{-1}(H(s)) = \mathcal{L}^{-1}(F(s)G(s)) = \int_0^t f(t)g(t-\tau)d\tau.$$

The resulting function is called the **convolution product** of f and g and is denoted by f * g.

That is,

$$(f*g)(t)=f(t)*g(t)=\int_0^t f(t)g(t-\tau)d\tau.$$

- 3

・ロン ・四 ・ ・ ヨン ・ ヨン